INFORMATION TECHNOLOGY J

ONE MARKS QUESTIONS (1-20)

| A set of Boolean connectives is
funcuionally complete if all Boolean
functions can be syvnthesized using those.
Which of the following sets of connectives
15 NOT functionally complete”
a. EX-NOR
b implication, negaticn
¢. OR. negation
d NAND

2, sample space has two evenis A and B such
that probabilities
PANB)=12, P(A) =11,
P(8)=173. Whatis P(AUB)?

a 11h2
b V12
o 912
d 812

3 What is the chromatic number of
following graph?

(8
(5\-

side of Ihe smallest MIS

i Z

5 Which  of the
expressions descnbes the language over
{0, 1} consisting of stings that contain
exaclly two 17}
a (O+1*110=1)*

[ollowing  regular

laf 12

b. 0*110*

el L 4 Sl 1

d (O PO OO 1)
(i Let N be an NFA with n states
be the mimmized DFA wit
recognizing the same language.
the following 1s NECESS
&2 m<2”
b n=m
¢ M has one ac ale
d m=2"

7

=26

MNone of the above

Ccmmder the following Boolean function
of four vanables

SUA,8,C,01=3 (2367891011213
The function 15
a independent of one variable
b. independent of two variables
¢ independent of three vanables
d. dependent on all the vanables

] Whai Boolean function does the circwl
below realize?
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Armrange  the [lollowing functions in

increasing asymplotic order:

A '

B &

c. oM

D nlog’n

K 10000001

a adeehb

b dacehb

e aedeb

d a0dbe

For problems X and Y, V' 15 NP-complete

and X reduces to Y w polynomal time,

Which of the following is TRUE?

a. IFX can be solved in polynomial time,
then so ¢an Y

b. X is NP-complete

o. X i NP-hard

d. X is in NP. bul nol necessarily NP-
complete

Which of the following 15 TRUE?

n. The cost of searching an AVL tree is
B log n) but that of a binary search tree
is C{n)

b, The cost of searchimg an AVL tree
tNlog n) but that of 4 complete binal
tree is (K n log ii)

¢ The cost of searching a b
tree 15 () log n) but that of a8 A
A

15 Hin)

gl The cost of searchy tree 15 O
{n log n) but tha v search
lree 15 Oin)

ymmige paradigms and
Nighe ﬁluwing lable.

[ Ve

¢, ll=d. [11=h, IV-a
o lea, ld. Hisg, IV-b

¢ 1=, g, THE-b, 1V-a

do l-g, H-d. -, IV-b

Consider the execution of the following

commands in o shell on a Linux operating

avsiem.

bash$ cat alpha

Mathematics

bushS i alpha beta

15,

¢

17.

18.

2ol 12

bash$ rm alpha

besh$ cat == bata <= SAME
Information Technology

SANE

bash cat beta

The output of the last command will be:

a. Mathematies information Technology
SAME

k. Mathematics Information T
c. Information Technology
d, Information Technolog

followmmg two 2's

01001101 11 L dfter the
execution af¥lition operation. the
status overflow and sign flags.
res el 3
i i
.0
0.1

A paging scheme uses a Translation Look-

aside Buffer (TLB). A TLB-access takes

1} ns and o munn memory sucess takes 50

as. What s the effective access Lime (in ns)

if the TLB hil ratio s 90% and there i no
page-faul?

a 3

b. &0

e 63

d, 73

Find if the following statements m the

context of software testing are TRUE or

FALSE.

(51) Statement coverage cannol guaraniee
excoution of loops m 4 program
under lesi.

(§2) Use of ndependent path festing
critenon  puarantees  execulion  of
cach loop m a program under tesl
more than once.

a. True, Troe

b. True. False

o, False, True

i. Talse, False

How many bytes of data can be send i 15

seconds over a serial link with baud mte of
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D600 1 asvonchronous mode wath  odd
purity and two stop hits i the frame?

a4, 10000 bytes
b 12,000 bytes
c. 15000 byvtes
d. 27.000 bytes

Which of the [ollowing is TRUE only of

XML but NOT HTML?

a. Itis denved from SGMIL

b. It describes coment and layout

¢ Itallows ser defined tugs

d. Tiis restricted only 1o be used with web
browsers

Provide the besi matching between the
entries 10 the o columns given i the
lable below

} Proxy server a} Farewall
1) KaZaA, DC++ | b) Coching |
L1 SLIP e e
1VDNS ) PPP

a J-a, I1-d, TH-g, TV-h
h, I-b, [I-d, [Tl¢, [V-a
¢ -a, e, -d. IV-b
. T<b, T=c, M=, 1V-a

TWO MARKS QUESTIONS (21-75,

23

Whieh  of the following
formulae 15 logeally valid? 1
first order formula with
variable. and [Jis o fir
na free vanable,

B+ (v

Bxa-+(vy. g = (3. vv. )]

[3‘-1-*% ﬁ"[ah-‘ﬂc-rﬂ

t‘l"‘ "'ﬁr'ﬁ"'ﬁi.il.-#m

d. Bx.a A ¥y, £4 (3w, V.~ )]

What is the probability thal i a rapdomly

chiosen group of r people ut least three

people have the same birthday?
365364 (365 - r 41)

5 165"

27

[ 365364 - (365 —r 4 1) p

b | 168’
€, - 3gs. 364361 (36— fr D))
mﬂ—l
| 365 364 (365 -r+)
c &y
°C, 365 364-363 3 = D) 1)
m |
365 -3od - (363 —r +
d. 3657
The exponent of 11 m
factorzation of 300) is
m 27
b. 28
- |
d. 30
In how i |:l blue balls and r

cd in n distinet boxes?

(b+r)=IN
W (m=1)! (b4 r)!

4.3
¢ bR

!n +(h+r- IE
d  m{der-n!
Consider the field C of complex numbers
with addition and multplication. Which of
the following formis) a subfield of C with
addition and multiplication”

(S1) the set of real numbers

(S2) fatib| aand hare rational numbers)
(S3) {a+ib o+ b <1}

a. Only 81

b. S1and S3

¢, S2and 53

d. S1and 82

G is o simple undirected graph, Some
vertices of G are ol odd degree. Add o
node v 1o G and make it adjacent o each
odd degree verlex of (0. The resultan
graph is sure 1o he

w. regular

b. complete

¢, Hamiltoman

d. Euler

Consider the following Masse diagrams,




30.

il

YRy

Which all of the above represent a lathice™
a (1) and (1v) only

b (n)and (1) only

¢ (1) only

d (i), (i) and (iv) only

If M 15 a square mamx with a zero
determinant, which of the followmng
asserhon(s) 1s (are) correct”

{51) Each row of PS can be represented as
a lingar combination of the other rows

{52) Each column of M can be represented
as a4 Linear combination of the other
columns

{83) MX =0 has a nontrivial solution

{84) PS has an inverse

a S3andS2

b SlandS54

¢ ST and 53

d S1,82andS3

Consider the function f{x) = x* -2x
Suppose an execution of the Ne
Raphson method to find a zero
starts with an approximation xg =
What is the value of x=, ‘the X
of X that the algonthm pro
iterations.
places?
a 2417
b 2419

twin

rounded @ decimal
L 2

as follows., what is the
ueof fix) for x = (0,2]7

n'heu:s-?-

2

atherwire
g 2
|
y
R B
C 1-]—
B
|
18
i 2

i

0
&s not a CFL but L. is

34,

35

Jof 12
If the final states and non-final states 1 the
DFA below are interchanged. then which o
the following languages over the alphabet
ta, b} will be accepted by the new OFA”

o

ab

b Set of all stnings that
anaorab

2t 5, k=0
the following is true?

b. Ly mla=14 and L) 15 non-regular

¢ Lyo Laisnota CFL but Lais

d There 15 a 4-state PDA that accepts L,
but there 15 no DPDA that accepts Lo

Consider a CFG wath the following

productions.

S -+ AAB

A DA ADI

B — 0B

S 15 the start symbal, A and B are non-

terminals and 0 and | are the terminals.
The language generated by this grammar 15

a  {0"0™n =1

b 000" i, 1.k = 0w 10710™ n =1}

¢ (00 i=j=0) u{0"10"n1)

d The s&1 of all strings over [0, 1}
containing at least two 0's.

Which of the following languages is (arg)

non-regular?

Ly={0"1" 0 < m = n = 10000}

Ly = |w | w reads the same forward and

backward

Ly = fw & {0, 1}'lw contains an even

number of U’s and an even number of 175

a: L,.: H-ﬂd L;ﬂ-l.‘l]}l'

b L and Ly only

¢ L:only




a7

36

38

d Laonly
Consider  the following  two  finite
automata, M; accepls L; and M; accepts

Ls

Q80

Which one of the Tollowang is TRUE?
a Li=La

b Licla
& Lim L1=':I'-'
d; Lyw Li=Ly
Consider the following state disgram and
its real zation by a JK Mip Mop
=1,
ax

The combinational circuit generates J and
K in terms of X,y and O

The Boolean expressions flu J and K are

i xBy adxBy

b @By andxBy

¢ XxBVamd xDy
d 3ByVand xDy
Assume the LA (7

nddress equal 1o (he locanon
X with X morement word length
after the eff is calculated;
LA ~(X) is i@ address equal 1o
the conlen tion X. with X
d one word length before

ress 15 coleulaied. LA =
sifective address equal i the
of location X, with X
: wed by one word length after the
tive address 15 caleulated The formut
of the wmstruction s (opeode, source,
destination), which means (destination +
source op destination). Using X as o stack
potriter.  which  of the following
instructions can pop the 1op two clements
from the stack, perform the addition
operabon and push the result back to the
stack
a ADD (X)) (X)

L]

40

41

42

S 12
b. ADD(X), (X)
¢ ADD-(X), (X))
d ADD-(X). (X}
Consider n CPU where all the instructions
regquire 7 clock  eyeles 10 domplete
execution. There are 140 mstructions n
the mnstruchon set It s found that 125
control signals are needed (o be gencg
by the control umil While designig
horizontal microprogrammed cogftro
single address field Format
branch control logic. Wha
size ol the comrol

cantro)

uddress register
g 1257
b 12510

C l3j’; ';@ ’

d. 1351

A W single cycle processor

0 ing @8 100 MHz is convened inlo a
. pipelined processor with five

5 uiring 2.5 nsec, 1.5 nsee, 2 nsec,
and 2.5 psec, respectively, The

v of the laches is (L3 nsce The

speedup of the pipeline processor for a

large number of instructions s

w 435

b. 40

¢ 333

d 30

Assume that a mam memory with onlv 4

pages. cach of 16 bytes, s initally empty

The CPL generates the following sequence

of virual sddresses and uses the Least

Recently Used (LRLU) page replacement

policy

04820243644, 12, 68 72, 80, 84 28, 32,

88, 92

How many page faults does this sequence

cause? What are the page numbers of the

pages present in the main memory at the

end of the sequence”

a Gand1. 2, 3 4

b. Tand 1.2, 4.5

¢ Sand] 2,45

d. 9and ), 2,35

The two npumbers given below are

multiphied using the Booth's algorithm.

Muluplicand: 0107 1010 L1IO 1110

Multiphier: O11TO1ETTOTT1101




43

15

How  many sdditonssubtrucnons  are
required Tor the multiplication of the above
two numbers?

oL b

h. 8

g 10

d 12

If we use Radix Sort to sort n inlezers in
the range (0", n*] for some k - 0 which is
independent of n. the lime taker” would be

a. B(n)

bh. O(kn)

¢ Minlogn)

d 6%

Whenr n = 2™ for some k 2 0. the
recurrence relation

T(n)=2r{n 2)+ 0. 1(1)=1
evaluates to

a n(logu+1)

b. J;hxgn

¢ nlogn

d n Ing_Jr_;
For the undirected, weighted graph giy

below, which of the following sequence

of edges represents a correct

Prim’s algorithm 1o construet g

Spanning Tree?
s

A2.1)

(d. ), (L ey, (d. a) (a byoae ek (L by

g h). (g1

(e g), (g 1) (b D (L e, (F d), (d, a),
(a, b, (¢, ¢)

The following three are known 1o be the

preorder, i order and post order sequences

of a binarv tree. But it is not known which

is which,

I. MBCAFHPYK

1. KAMCBYFPFH

J7.

8.

4.

ol 12
1. MABCKYFPH
Pick the true statement from the followng.
a | and I are pre order and m order
sequences, respectively
b. 1 and Il are preorder and post order
sequences, respectively
¢ 1 is the i order sequence. bl nothing
more can be said about he oth
sequences
d. 1l and 111 are the preorder
sequences. respectively
Consider the following s
for the undirected graph o

IV. adhepel

A Depth First Search (DES) is started ai
node a. The nodes are histed in the order
they are first visited. Which all of the
above s (are) possible output(s)?

a. [and [l only

b. IIand 11 only

¢ 1L [T and IV only

d, 1.1 and 11T only

Consider a hash table of size 11 that uses
open addressmg with linear probing, Let
hik) = k mod 11 be the hash function used
A sequence ol records with kevs

43 36 92 R7T 11 4 71 13 4

15 mserted mio an imbally empty hash
table, the bins of which are indexed trom
zero o ten, What is the index of the bin
into which the last recond is msened?

L

d,

What is the output printed by the following
C code?




3,

| Minelude werdie.n>

Ant =ading)

|
char af] = “worlde"
kht 1.3

forii=0, §=5: i<ji alies] = Blj==}]
i
prantf { “isyvn", a)

dlrow

Null string

dirld

d. worow

Consider the C program below, What does
it print™

oclude «sodic. b

#dafine sveplin,b] twp = &; & = by b = Emp
vold owapdiint &, imc Bl

I
imk Emp;
tp - 8; & = b b« top;

6T

'[H-H meapd (ine “a, int *h)
" g:;?EzJ'- = Thy *h > (mpy
int maini)
Y ink menl = 5. pamd = d, ep
ifineedl » momd) | swspliwsd, me2i; |

10inuml « maml | eapd (nomisl, mamd): |
A0 immnl »s mmd) [ wwapdienaml, eramd}y |

princf{-%d, 8, mesl, )

below,

|

a: 535

b. 5.4

c 4.5

d 4.4

Consider the C pio g
What does it print?

finclude e

18t matn() *
{

L {1.,2,3,4,5,6,7,8);

3 i<3; Led)(
1 = af4) + 1;
fi+e;
b
i--3
fas{i=T; j3d: j--){
int i = §52;
\ ali] = afi] - 1:
printEi=bvd.%d" . i.a0i]);

I‘LJ

O o=
b 4 L

52.

Tof 12

A C program is given below
Pl lodie stdis ks
i

:.‘.ﬂhul it

= A, "B & - e N

whamr WU L] I S e

s e o=ty

Pufisliy 163 Besill

forfg=ay 1x3; foeid
Tip o« 3% = il = S{LITHN

]
L]

What should be the comems of
bat the end of the program?

a 0
- TR
e . J

(rl

L

AN
The following is a code with two threads.
producer and consumer. thal can run n

parallel. Further, § and Q are binary
semaphores equipped with the standard P

and V operations

Emmaghore § = 1, Q = 3y

inceger x;

producar CEDUERET |

whilel trus jdo whilel teus jdo
PUsi gk
M = producs|); consume (x) ;
vigh Vs

o

Which of the following 15 TRUE aboul the

program ubove?

a.  The process can deadlock

b. One of the threads can starve

c. Some of the items produced by the
producer may be lost

d. Values generated and stored in *x" by
the producer will always be consumed
before the producer can generate i new
villue

An operanng system implements a policy

that requires a process to release all

resources before making a tequest for




another resource.  Seleet the TRUE
statement from the following:
a. Both starvation and deadlock can occur
b. Starvation can occur but  deadlock
cannol voeour
¢, Starvation cunnot occur but deadlock
can ocour
d: Neither starvation oor deadloek cam
Beour
55, IT the nme-slice used in the round-robin
scheduling poliev is more than  the
maximum tme required o execuls any
process, then the policy will
a. degencrate to shortest job first
b. degenerate to prionty scheduling
¢, degenerate w first come first serve
d. none of the above
56,  Maich the following flag bits used in the
context of virtual memory management on
the lelt sude with the different purposes on
the nght side of the table below

e of e Bk

a, I-d. ll-a, TH-b, IV
b I-b, ll-c. [1l-a IV-d
g Is¢, [I=d, Mo, IV-b
d. I-b. 1-¢. TH-d. IV-a
57 Which ol the following 0T
considered when com ungion poini
tor a software project’
(O1) External 'nputs

d 02,05

S8, A software project plan hay identified ten
tasks with ecach having dependencies as
given in the lollowing table:

TRt |

fakd,

Bl 12

Depeads On

1
T
.
AN -
Td

(75,17, 18
T 16.79 |

Answer the lollowing questions:

Sl

(1) What s the maxi r of
tasks thut can be done co ?

(0Q2) What 15 the reguired
to complete the projEL ing that each
task requires one im and there is no

restrichon nu r of tasks thai can
he dnmir@ ¥
u.

ftware engineer 15 required (o
mrplemqm o sets of algorithms for a
single set of matnx opsrations n an object
onented programonng language: the mwo
sets of nlgnnﬁunx dre o provide precisions
of 107 and 10, respectively, She decides
to implement two classes, Low Precision
Matrix s HighPrecisiod Matryx,
providing  precisions 107 and 107
respechively
Which ane of the following is the best
alternative lor the implementation”

(§1) The two classes should be kepl

independent

(82) Low Precision Matnx should be

denved from High Precision Matnx,

(83) High Precision Malnx should be

dervad from Low Precision Matnx

(54} One class should be derived from the

other the hierarchy is immalenal

u, Sl

b. 82

c. 853

d. S4

Which of the following requirement

speei fications can be validated?

Sl: I the system fails during any
operstion, there should not be any
loss of data




82 The system must provide reasonable
performénce even under maximum
Ipad conditions
The software executable must be
deplovable under MS Windows 93,
2000 mnd XP
User mierface windows must it on o
stundurd monitor’s screen

S4and 83

S and 82

S3and S1

52 and 81

fi h:l. R (A, B, C 1) he a relational schema

with the followimg functional

dependencies: A—B. B—C (C—D and

D—B. The decomposition of R nto (A,

By (B Chrand (B, )

a.  gives a lossless jom, and 15 dependency

preserving

b. pives o lossless jom. bul is nol

dependency preserving

c. does not give a lossless jom. but 1s

dependency preserving

d. does not give o lossless joun and 15 nol

dependency preserving

Let R(A, B, C, DL E, PG be a rLqu'

schema in which the following [

dependencies are known (o

AB=CD, DE=P, C=li, P

G The relational schema H 1s

a. in BCNF

b in ANF, bt nui In

o

d

-ing‘hm schedules of
and T3 [Notatuon: In
: senis the aeton 'Y
for wrile) perfornmed by

on object O )

My R MU 1WA IRE len iwm
N A LRA LEm W Iem P
A N WE IRA OIER MR LMD

the [ollowing stulements 18

53

b @

62.

63

a. 81, 82 md 83 are all confliet
equrvalent 1 cach other

b, No two of 81, 82 and 53 are contliet
equivilent to each other

¢. 82 1 conflict eguivalent o S3. but not
sl

o 81 15 conllict equivalent to $2, but not
o 83

[

63,

\}

67,

Worl2
A IMbps satelbite hok cotinects  (wo
ground  stations.  The alttude of the
satellite 1 1S 36,504 k and speed of the signal
is 3 x 10" m/s, What should be the packet
size for a channel ublization of 25% for a
satellite Link psing go-back-127 shding
wmdow  protocol?  Assume thal  the
acknowledgment packets are negligible in
size und that there are no errors
b, 60 bytes

commumeation
¢, 240 hyies O

i, 120 bytes
d. 90 byies
The mmamum £ sueprequred for u
CSMA/CD  based uter  network

MRning il 2000 m cable with a
link LI T
&
b 850 by
e of the above

ronsmitted on o link uses the
allowing 2D parity scheme [or emor
detection:
Fach sequence of 28 bils 15 armunged m a4
X 7 matny (rows r through ri, and
columns d- through d, ) and 15 pudded with
a column dy and row r; of panty bits
computed using the Lven panty scheme
Fach bt ol column dy (respectively, row
ri) gives the parity of the comesponding
rivw (respectively, column) These 40 bins

are ansmilted  over the: data
lmk.

d, d. d, &, d, o 4 |4d,
¥ T 8 O %
b T T F N
alo o & b T 0|l
kle =2 4 @@ & & i|w
el E-0 2 -0 & -T 19

The table shows data receved v a
receiver and has n corrupted bits. What 1s
the minimum possible value of n?

a |

ooRoor
£ B

Tw:: popular  wuting  algonthms  are
Distimee Vector (DY) and Link State (LS)
routing, Which of the following are true?




810 Count to mfimty s & problem only
with DV and not 1S rauting

§2: 1n LS, the shortest path algorithm is
run only at one node

53 In DV, the shortest path slgonthm s
run only at one node

S4: DV requires lesser number of
network messages than 1.8

w81, 82 and 54 only

b. 82 and 83 only

¢. S1.52and 53 only

d. S1 and 84 only

68,  Wihich of the followmng statements are

TRUE?

S§1: TCP handles both congestion and
Now eontrol

82 UDP handles congestion bt not flow
control

83 Fasl retransmit deals with congestion
but not tolv control

541 Slow stant mechanism deals with

both congestion and flow contiol
51. 52 and 83 only
S1 and 83 only
53 and 34 only
S2, 83 and 84 only

i Thﬂ three way  hapdshake [
connection s-ﬂnhlmhmenl 15 shiow

eo oo

+ ACK [rom the server

ol establish a connection

ol ACK from the client cannot

1ah the conmection

The server moves LISTEN —8YN

RCVD— SYN SENT -

ESTABLISHED n the state machine

on no packet loss

54 The server moves LISTEN—SYN
RCVD—ESTABLISHED in  the
state maching on no packet loss.

g, S2and 83 only

h. 81 and §4 only

70.

73

el 12
¢ S1and 83 only
d. 52 and 84 only
The total number of keys required for a set
of it mdividuals to be able o commumente
with each other using secret kev and pubhie
key eryptosvstems, respectively are:
a. nin-1}and 2n

b. 2o nin=1)

g, Mwﬂn

2
d. ”l’:”; wn

- 102, 439, 285, 376, 305
- 121, 195,242 381_472

. 248, 520, 386, 343, 270, 307
550, 139, 507, 395, 463, 402, 270

Suppase the BST has been unsuceessiully

searched for key 273, Which all of the

above sequences list nodes w the order in

which we could have encountered them in

the search?

a. 1and Il only

b. Tand 11T only

¢. |l and IV only

d. [T only

Which of the following statements 1s

TRUEY

a, L Il and IV are in Onder sequences of
three different BSTs

b. 115 a preorder sequence of some BST
with 439 as the rool

¢. |lis an in order sequence of some BST
where 121 is the root and 52 is a leaf

d. 1V 5 a post order sequence of some
BST with 149 as the root

How many  distinet BSTs can  be
constructed with 3 distinet kevs?

a. 4

b, 3

o b

d. 9




Common Data for Question 74 and 75:
Consider the following relational schema:

Student {school-1d. sch-roll-np. sname. saddress)
School (schoolad, sch-name, sch-address, sch-
phone)
Enrolment
exmnname)

ExamBResult {(erollne exammane, marks)

(school-id,  sch-roll-ne,

erollng,

74 What does the following SOL guery
output?

BELBUT mehimaarey, COUNT (7}
FRMN.
HiEFE

etenl 0 asrclioess T, Cxablledailt §

E wchiel oA & Coadheos]l- 8

Adr

E dxasias & 8 masses A0 B.erzllae = 0oesellee

T
Bormrkd = 166 AND 0oachool 3l I8-4EELEST wchisls bd

FROW 7oy

EECET =Y etk li

YT ol (% 2000
GRSUE WY arfes) - Ll

a. for each school with more than 200
students appeanng m exams, the name
of the school and the number of 1005
sepred by s students

b. for each school with more than 200
students in il. the name of the school
and the number of 100 scored by is
stuclents

@ for each school with move than

students in i, the name of the 2
and the number of 115 students
1O in ot least one exam

d nothg; the query has

75. Consider the followingtuple onal
caleulus guery:
[0 36wt | = I i
Jir | pe Bk & ¥ el b
A B oo— T S—
o > 3 -

s with more than 35% of s
students enrolled in some exam or the
ther

schools with a pass percentage above
35% over all exams taken together

d schools with a pass percentage above
35% over each exam

Linked Answer Quesiions: (.76 w (.85 carry
two marks each.

Ilafi12
Statement for Linked Answer Questions 76 and
778
A binary tree with n = [ nodes has n, n; and n;
nodes of degree one, two and three respectively.
The degree of a node is defined as the number of
its netghbours,

6.

i can be expressed us

& n-n-l
b. !'l|—2

. [.ﬂﬂ‘l'";jl O
3
d n:-|

Starting with the ag‘:. while there

e Df@l‘ﬂ& two i the wee,

Tgeen the two neighbours
ghve v from the tree, How
remain at the end of the

tatement for Linked Answer Questions 78 and
T

A CFG Goas given with the following productions
where § is the start symbol, A is a non-terminal
and a and b are terminals,

S—=aS A

A—uAb|bAal =

T8, Which of the [ollowing stngs s
generated by the grimmmar above?

a. aahbaha

b. aabaaba

¢ abababb

d. aabbaab

For the correct answer m Q.78 how many
steps are required 1o derive the string and
hiow many parse trees are there™

a Oand|

b. Gand2

c. Vand2

d. 4and2

Statement for Linked Answer Questions 80 and
81




Consuder a4 computer with & 4-way set-assovutive
mapped cache of the tollowing characteristics: u
total of | MD of main memory, a word size of |
bvte, a block size of 228 words and a cache size of
S KB

80.  The number of hits m the TAG, SET and
WORID fields, respectively are:
E 7.5 7
b 8357
c. .66
d 9.4.7

81 While accessing the memeory location
(79511 by the CPUL the contents of (he
TAG feld of the corresponding cache line
15
o OUEET LOG0
b, 110001 TW
¢ OO 1000
d. 100100

Statement for Linked Answer Questions 82 and
83

Consider the code fragment witten in C below:
vaid flint n)

{
if o == L4

printfi"%dr.n):
i
alse|

Efmdd);

printf|"ed=, nkd);

LEN following implementytons
the same outpul for i 173 as
one from (). 827

Pl

void Fiine n)
L
iF in/2) |
Elns21;
i

printf(~td*, ni2);
¥

Fl:
woid Elint )
{

if tn <= 1)1
printf{=%d®.nl:

elsel
printE{*id~,n¥2);
Eirs2)
|
k . - — - —
a. Both Pl and P2
b. P2 only
¢ P1only
d. Nenther P1 nor I*
Statement for Linked A stions 84 and
a5
Host X has IP 2168197 and 1s
comected Rl and R2 to
another h P address 192 168.1.80.

addresses 192)68.1.135 and
. hos 1P addresses 192.163.1.67
1535, The netmask used i the

Ciiven the mfornuaton above, how many
distinct subnets are guaranteed 1o already
exist m the network

a |

=~ ¥
e

85,  Which II" address shounld X configure its
eateway as’
o 192168107
b, 192.168.1.110
¢ 192.168.1 135
d. 192.168.1.155




